§SS
SAS

S
IR
LT Ll
JZKHG 2 L dg

| 2JHG = L KHM

3.5 QR3A

5 Given: E’:‘ KjH_
HG = HM,
/5=/6

Conclusion: ATHG = AKHM , \g
Y

He = fu

L ANJHE = ALHM

\.C*Muuw
Q.lebu.)

>, Rellerie
4. Add (2,3
S Bued

b. SAS(IuS)



12 Given: HO =MO

JO=KO
HJ is an alt M
of AHJK. 0
MK is an alt : :
of AMKJ., :
Prove: £1=/2
1 H0=M0,J0=RK0 1 G.weM
2 LHOJ = /MOK 9 Vertls>2 Ls
3 AHOJ = AMOK 3 SAS (V2V)
4 Wlisanalt of AHIK. 4 (it
5 LHIKisartZ. 5 ool
6 MKisan alt of AMKJ., 6 (5 eotau
TLMKJisart.. {| aIA AL
8 LHIK = /MKJ 8§ MLs == LS
9 LHJO = ZMKO 9 COCTT.

10 21 =22 10 s b



PX=QX
Prove: AXST is iso0s.
1 NR=NV | (o ol
2 PandQaremdpts,. 2 O W
3NP=NQPR=QV 3 — ©R mdpt 2seg5 > 2 Sz
4 PX=0QX 4 Guanr’ -

18 Given: NR =NV N
P and Q are mdpts.
LR=.V P 1 ©\Q R T S N
R AS “T vV

5 Draw NX 5@/321"3..&44) ‘?’IN Avise
oy g P 4 %@
7 ANPX = ANGX 7 5SS

PaN

8 LNPX = /NQX g CLCTC "
9 (RPTsupp of ZNPX 9 STL = 5063@

10 £VQS supp of ZNQX 10 BT L = SOPP é; S .
11 ZRPT = 2VQS HZs supp OS2 Ls ==L«

12 (R=.V 12 G rue

13 ARPT = AVQS 13 S A

14 QS =PT U OPCAT

15 XS =XT 5 SolWNzed

16 AXST is isos. 1 Q= sos =S \1s5S AN



WAQQ%&”T

\
L AD =2 R .
, ?)Mdpé:/‘«c/ 3

S0

7 Given: AD and CD are legs of isosceles AACD.

B is the midpt. of AC.
Prove: £ A = 2C

_S )
GD X ED u_oéo B RYA

S = B

bwu) D>
DD
A/%DIB = A\ CDPR

LAZ LC

D




14 Given: AB and AC are the legs of isosce- A

les AABC. / \
m/1 = 5x, ~ e
ms3 = 2x + 12 /
Find: mz2 /‘h (\2\1_
oo Proot “/cC i
J
AD = pC 565 A A
L Y= 22 Voose /s o [50Ss A=
L2 = Y M S
L1 SupPld Sl TPs0pp LS
-2l sy pp LD S v s HFutes
DX Jrobu“!& <D
T~ = 1b¥%
o = Q%

ml) = 5 (a0+4) = 130
%U(Q\QL,\ = w L = (P



CHPAEY

6 If AHJK is equilateral, what are the val- H

ues of x and y? /\\
\NX+8

000 <2 /5 \
HJ= K & HI=JK J — N

i

b5~ = %+ 8 IS =354~ 6 oY ¢
(95:3




EACRERY

10 In/_\RST,RS=XJr7,RT=3x+5,and F}\
ST = 9 — x. If ARST is isosceles, is it __,,:’” \
also equilateral? /N
x+7/ \ 3x+5
."'J‘ \'-\
/ \
/ \
[\
& 1505 5 9 T
RS=RT oR RS =35T o0R. RT =S)
T = Bx+S ¥+F = Q —x 355 = 9-x
2 T x X = Q Ly =4
) = X X< | X = |




n F

P
AHLeU ¢ & W

5.5

A—

S 3

o

6 Given: £1 is comp. to £2.
/.3 is comp. to £4.

£1=13

Conclusion: AB = CD

>

>

c B cC

L\ Comp £ &
L3 comp LH
28 X LDeB ~ALS

5
4

0)
O

B
¥
G " A

commpl = afl g

Q.

3 NS =
J Rl

S . C)W

b. Corupof SLs >E Z/s( >
. /+3/\ C2 UG )

T . C/p(’/?c)






